
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



• 

• 

• 

• 

• 

• 

• 

• 

𝜀𝑠

 𝜀𝑠

 



• 

• 𝑡0 = 60 𝑚𝑖𝑛

• 𝑡1 = 360 𝑚𝑖𝑛

𝐻1(𝑝) =
2 ∙ 𝑝 + 1

(𝑝 + 1) ∙ (𝑝 + 2) 𝐻2(𝑝) =
2 ∙ 𝑝2 + 1

𝑝 ∙ (𝑝 + 1) ∙ (𝑝 + 2)
𝐻3(𝑝) =

(2 ∙ 𝑝2 + 1) ∙ (𝑝 + 3)

(𝑝 + 1) ∙ (𝑝2 + 2)

𝐻4(𝑝) =
2

(𝑝2 + 4 ∙ 𝑝 + 16) ∙ (𝑝 + 20)
𝐻5(𝑝) =

2 ∙ 𝑝 + 1

(𝑝 + 1) ∙ (𝑝 − 1)
𝐻6(𝑝) =

2

(𝑝2 + 200 ∙ 𝑝 + 10001) ∙ (𝑝 + 1)

 



 

 

 

 

 

 

 

 

 

 

 

≤ 

≤ 

y(t)

θm (t) y(t) θm (t) y(t) R.θm (t) R

R=37 mm



y(t=0)=0 θm(t=0)=0

 

• )()()( tiRtetum += ; 

•   )()( tkte me =  

• )()( tiktC mm =   

• )(
)(

tC
dt

td
J m

m =


 

ω

 

Ωm(p) U (p)

𝐻𝑚(𝑝) =
𝛺𝑚(𝑝)

𝑈𝑚(𝑝)
=

𝐾

1 + 𝑇 ⋅ 𝑝
 

𝐻𝑚(𝑝)

K T 

 

u0  𝑢𝑚(𝑡) = 𝑢0 ∙ 𝑢(𝑡).

𝜔𝑚(∞), 

𝜔𝑚(∞) = lim
𝑡→+∞

𝜔𝑚(𝑡)

𝜔𝑚(∞), K T et u0

K=1,2 s −1 .V −1 T=0,16 s  u0 = 5 V

𝜔𝑚(∞) 

𝑡5% 5%

 



)(

)(
)(

pU

pY
pH

m

0 =

u0 𝑢𝑚(𝑡) = 𝑢0 ∙ 𝑢(𝑡).

u0 =5V

y(t)

4s

𝑦̇(4)

𝛼

(𝑂𝑇; 𝑥0⃗⃗⃗⃗ )

• 

• 𝑢𝑚(𝑡) = 𝑒(𝑡) + 𝑅 ⋅ 𝑖(𝑡) + 𝐿 ∙
𝑑𝑖(𝑡)

𝑑𝑡
; 

•   )()( tkte me =  

• )()( tiktC mm =   

 

• 
𝛼̇(𝑡)

𝜔𝑚(𝑡)
= 𝑟 =

1

100
𝛼̇ =

𝑑𝛼

𝑑𝑡
 

𝐶𝑅(𝑡)

𝐶𝑅(𝑡) =
𝐶𝑚(𝑡)

𝑟

• 

 



𝜀(𝑝) 𝛼(𝑝) = 𝛼𝑐(𝑝)

𝐽𝑒𝑞 ∙
𝑑2𝛼(𝑡)

𝑑𝑡2
− 𝑚1 ∙ 𝑔 ∙ 𝑧𝐺 ∙ 𝛼(𝑡) = 𝑚1 ∙ 𝑧𝐺 ∙ 𝛾(𝑡) + 𝐶𝑅(𝑡)

• 

• 𝛾(𝑡)

• 

• 

• 

ℒ(𝛾(𝑡)) = Γ(𝑝)

𝛼𝑐(𝑡) = 0

𝛾(𝑡)

𝛾(𝑡)

𝜀(𝑝) 



 



𝐷1 = 𝑠(𝑡𝐷1
) − 𝑠(∞)

𝐷1% =
𝑠(𝑡𝐷1

)−𝑠(∞)

𝑠(∞)

𝐷1 = 𝑠(𝑡𝐷1
) − 𝑠(∞) 𝐷1 = 𝑠(𝑡𝐷1

) − 𝑠(∞) = 0,92 − 0,6 = 0,32

𝐷1% =
𝑠(𝑡𝐷1

)−𝑠(∞)

𝑠(∞)
=

0,92−0,6

0,6
= 0,53 53 %
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Série1

 → 1

≈

 

 

 

 

 

 



• 

• 

• 

 



𝐻(𝑝) =
𝐾′

𝑝𝛼 ∙
1+𝑎1∙𝑝+𝑎2∙𝑝

2+⋯+𝑎𝑛∙𝑝𝑛

1+𝑏1∙𝑝+𝑏2∙𝑝
2+⋯+𝑏𝑑∙𝑝𝑑 =

𝐾′

𝑝𝛼 ∙
𝑁(𝑝)

𝐷(𝑝)

𝛼 𝛼

• 

o 

𝐻(𝑝) =
𝐾

𝑝𝛼 ∙
1+𝑎1∙𝑝+𝑎2∙𝑝2+⋯+𝑎𝑛∙𝑝𝑛

∏ (𝑝−𝑝𝑖)
𝑑
𝑖=0

𝐾 =
𝐾′

𝑏𝑑

𝐷(𝑝) = ∏ (𝑝 − 𝑝𝑖)
𝑑
𝑖=0

o 𝑝𝑖

1 + 𝑏1 ∙ 𝑝 + 𝑏2 ∙ 𝑝2 + ⋯+ 𝑏𝑑 ∙ 𝑝𝑑

o 

• 𝛼

o 

▪ 

▪ 𝛼 = 0

o 

▪ 𝛼 = 1

o 

▪ 

o 

▪ 

▪ 𝛼 > 1

▪ 

 



• 

𝐻(𝑝) =
𝑎0 + 𝑎1 ∙ 𝑝 + 𝑎2 ∙ 𝑝2 + ⋯+ 𝑎𝑛 ∙ 𝑝𝑛

𝑏0 + 𝑏1 ∙ 𝑝 + 𝑏2 ∙ 𝑝2 + ⋯+ 𝑏𝑑 ∙ 𝑝𝑑
=

𝑁(𝑝)

𝐷(𝑝)

𝐷(𝑝) = 𝑏0 + 𝑏1 ∙ 𝑝 + 𝑏2 ∙ 𝑝2 + ⋯+ 𝑏𝑑 ∙ 𝑝𝑑

• 

• 

 



𝐻(𝑝) =
𝐾

1 + 𝜏 ∙ 𝑝

𝐾  𝜏

• 

• 𝜏

𝑡5% 

𝑡5% ≈ 3 ∙ 𝜏

𝐻(𝑝) =
𝐾

1 +
2 ∙ 𝑎
𝜔𝑛

∙ 𝑝 +
1

𝜔𝑛
2 ∙ 𝑝2

𝐾 𝑎  𝜔𝑛

• 

• 𝜔𝑛

• 𝑎

𝑡5% 

𝑎 𝜔𝑛

 





 



𝛼(𝑡) 𝛾(𝑡)


